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Modern World

(Opt. i)

Time : Three Hours] [Maximum Marks : 80

Note : Attempt Five questions in all. Q. No. 1 is compulsory.

Attempt four more questions, selecting at least one

question from each Unit. For map question the part

relating to explanatory note will carry full marks for

visually disabled candidates.

dqy ik¡p iz'uksa ds mÙkj nhft, A iz'u la[;k 1 vfuok;Z

gS A izR;sd bdkbZ ls ,d iz'u pqurs gq, pkj vU; iz'u

dhft, A us=kghu fo|kFkhZ ds fy, ekufp=k lEcU/h iz'u esa

O;k[;kRed fVIi.kh okys Hkkx ds iwjs vad gksaxs A

Compulsory Question (vfuok;Z iz'u)

1. Chooose the right answer : 8×2=16

lgh fodYi pqfu, %

(i) Father of Modern Humanism :

(a) Dante (b) Petrarch

(c) Kepler (d) Martin Luther



vk/qfud ekuookn dk firk Fkk %

(v) nkars (c) isVjkdZ

(l) dSIyj (n) ekfVZu ywFkj

(ii) Birthplace of Renaissance :

(a) Italy (b) Germany

(c) India (d) England

iqutkZxj.k dh tUeLFkyh Fkh %

(v) bVyh (c) teZuh

(l) Hkkjr (n) baXyS.M

(iii) In 1498 Vasco-de-Gama discovered :

(a) America (b) India

(c) South Africa (d) Portugal

okLdksfMxkek us 1498 esa [kkst dh %

(v) vesfjdk dh (c) Hkkjr dh

(l) nf{k.k vÚhdk dh (n) iqrZxky dh

(iv) Prophet of New Agriculture :

(a) Karl Marx (b) Sir Arthur Young

(c) Robert Western (d) Charles Collin

uohu Ñf"k dk iSxEcj fdls dgk x;k \

(v) dkyZ ekDlZ dks (c) lj vkFkZj ;ax dks

(l) jkWcVZ osLVuZ dks (n) pkYlZ dksfyu dks

(v) Supreme power after Glorious Revolution of 1688

vested in the hands of :

(a) King (b) Parliament

(c) Tory Party (d) Pope
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1688 dh baXyS.M dh ØkfUr ds ckn fdldh loksZPprk

LFkkfir gqbZ \

(v) jktk dh (c) laln dh

(l) Vksjh ny dh (n) iksi dh

(vi) “Man is born free but everywhere he is in chains.”

Who said this ?

(a) Montesquieu (b) Voltaire

(c) Rousseau (d) Mirabeau

¶euq"; LorU=k iSnk gqvk gS ijUrq izR;sd LFkku ij og

tathjksa ls tdM+k gqvk gS A¸ ;s okD; fdlds gSa \

(v) ekWUVsLD;w (c) okYVs;j ds

(l) :lks ds (n) fejkcks ds

(vii) Who is the author of ‘Wealth of Nations’ ?

(a) Locke (b) Adam Smith

(c) Gladstone (d) Pitt The Younger

^oSYFk vkWiQ us'kUl* ds ys[kd dkSu Fks \

(v) ykWd (c) ,Me fLeFk

(l) XySMLVksu (n) NksVk fiV

(viii) First World War started in :

(a) 28 July, 1914 (b) 26 March, 1914

(c) 28 June, 1914 (d) None of these

izFke fo'o;q¼ dc 'kq: gqvk \

(v) 28 tqykbZ] 1914 (c) 26 ekpZ] 1914

(l) 28 twu] 1914 (n) buesa ls dksbZ ugha
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Unit I (bdkbZ I)

2. What do you understand by Mercantalism ? Discuss its

salient features. 16

okf.kT;okn ls vki D;k le>rs gSa \ bldh izeq[k fo'ks"krkvksa dk

o.kZu dhft, A

3. Describe the main features and effects of Agricultural

Revolution in England. 16

baXyS.M esa Ñf"k ØkfUr dh eq[; fo'ks"krkvksa vkSj izHkkoksa dk

mYys[k dhft, A

Unit II (bdkbZ II)

4. Discuss the main causes of French Revolution of 1789.

16

1789 dh Úkalhlh ØkfUr ds eq[; dkj.kksa dk o.kZu dhft, A

5. What do you understand by Liberalism ? Throw light on

its main features in England. 16

mnkjokn ls vkidk D;k vfHkizk; gS \ bldh baXyS.M esa eq[;

fo'ks"krkvksa ij izdk'k Mkfy, A
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Unit III (bdkbZ III)

6. Write an essay on Bolshevik Revolution of 1917 in Russia.

16

1917 esa :l dh cksY'ksfod ØkfUr ij ,d fucU/ fyf[k, A

7. Throw light on the causes and effects of Second World

War. 16

f}rh; fo'o;q¼ ds dkj.kksa rFkk izHkkoksa ij izdk'k Mkfy, A

Unit IV (bdkbZ IV)

8. On the outline map of Europe show the condition of

Europe on the eve of French Revolution of 1789. Add

explanatory notes also. 10,6

fn, gq, ;wjksi ds ekufp=k ij 1789 dh Úkalhlh Økafr ds le;

;wjksi dh n'kk n'kkZb;s A lkFk esa O;k[;kRed fVIi.kh Hkh fyf[k, A

9. On the outline map of world, show the polarization of

countries before World War II. Add explanatory notes

also. 10,6

fn, gq, fo'o ekufp=k ij f}rh; fo'o;q¼ ls iwoZ ns'kksa dk

èkqzohdj.k n'kkZb;s A lkFk esa O;k[;kRed fVIi.kh Hkh fyf[k, A

(2)L-1681 5 __



� �����;wjksi
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lalkj
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